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• Underline the importance of adding a macro-economic 
perspective to the micro approach in understanding trends 
in income distribution. 

 

• Explain how Social Accounting Matrices (SAMs) may be 
used to provide this insight. 

 

• Look at the effect of different ways of (re)distribution on the 
basis of assumption of constant expenditure coefficients. 

 

• Compare results for Canada, Germany and Portugal. 
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Aim of the paper 



• Disposable income is an important item in the economic 
process and not just a means for buying goods and services, 
as seen from the perspective of individual households.  

• Various events may affect household disposable income 
and its distribution in various ways. 

• Necessary inputs can be found in ‘social accounting 
matrices’. 

• The paper proposes a deviation from the traditional 
definition of exogenous sectors to better analyse the circuit 
of income flows and the impact of certain events. 
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Importance of macro-economic 

perspective 
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Constructing a Social Accounting Matrix 

Elementary scheme of input-output analysis: 

Input coefficients 

Factor coefficients 

Final 

use 

Fourth quadrant: 

Flow of income distribution 

and redistribution 
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Proposal – Traditional definition 

Traditional input-output model 

Distribution of value added 

HH2 pays taxes on income HH1 receives transfers 

Disposable income/Final use 

In this traditional model, distribution of income is fully endogenised 
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Proposal – New definition 

Separate the circuit of distribution of income 

 

 

 

Result: Distribution may vary independently of production 

VA as exogenous variable 
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Results – The case of Canada 

A 

B 

F 

 

 

 
Y ? 



 

 

8 

Results – The case of Canada 
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Y 𝑌 = 𝐵(1 − 𝐴)−1 
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Results – The case of Canada 

The amount of Compensation of Employees that remains 

with households, after distribution and redistribution 

From operating surplus originally earned by corporations 

only 106 remains 
𝑌 = 𝐵(1 − 𝐴)−1 
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Comparison of Germany and Canada 

+ + + + + 



More detail: 

• Disaggregation of labour input by sex and education. 

• Separating NPISH from the household sector. 

• Further disaggregation of household sector by main source of 
income. 
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Example of Portugal 

 

 

 

 

 

 

 

 

 

 

 

 

• Labour income and entrepreneurial income do not undergo the 
same distribution process. 

 



Simulations on possible effects of specific changes: 

• Wage increase at the expense of operating surplus 

• Increased income tax which results in a corresponding 
reduction of disposable income of employees. 

 

Simulations show that the distribution of these changes 
may depend on the source of the income change, possibly 
affecting disposable income of all sectors. 
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The effect of different (re)distributions: 

Two simulations 



• The paper shows that SAM-techniques may provide very useful 
insights in the broader functioning of the economy. 

• Furthermore, these matrices may add to plausibility checks of 
various aggregated NA results. 

• The use will depend on the availability of underlying results and 
their quality.  

 

In this regard, I think it would be good to further explore 
possibilities to: 

• Extend the accounts (are there possibilities to incorporate capital 
accounts, consumption and savings, and financial accounts?) 

• Extend the breakdowns in terms of items and sectors. 
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Discussion 



Some questions: 

• Input/output-tables can be used for impact analysis because of 
the assumed stability of the factors. How stable are the factors in 
the ‘income matrix’? Is it suited for impact analyses? 

• The paper presents possibilities for analysing distribution 
independently from production. Would applying the proposed 
changes at the most detailed level lead to more accurate results? 

• Which subgroups within the household sector would be useful, 
from the viewpoint of homogeneity, data availability and policy 
relevance? 
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Discussion 



Thank you for your attention! 
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